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QUESTION 1

You want to deploy MSTP with multiple regions. Each region should have a unique root bridge to accommodate a set of
VLANs. Which three configuration elements must watch on switches participating in this deployment scenario? (Choose
three.) 

A. MSTI toVLAN mapping 

B. revision level 

C. CST BPDU parameters 

D. configuration name 

E. bridge priority 

Correct Answer: ABD 

 

QUESTION 2

Click the Exhibit button. 

Router1, in peer AS 65001, advertises routes to R2 using EBGP. R2 advertises the routes learned from R1 to R3 using
IBGP. R3 is configured as a route reflector with routers R6 and R7 as clients. 
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Referring to the exhibit, to which routers will R3 advertise the BGP routes received from R2? 

A. R6, R7 

B. R4, R5 

C. R2, R4, R5, R6, R7 

D. R4, R5, R6, R7 

Correct Answer: D 

 

QUESTION 3

What allows non-Web enabled devices to access the network on a port configured for captive portal? 

A. A MAC address white list can be configured on the switch to allow specific MAC addresses to bypass the captive
portal process. 

B. LLDP can be used to query the type of device that is attempting to access the network, and predefined device types
can be allowed to bypass the captive portal process. 

C. Captive portal can be configured to only prompt for credentials when HTTP or HTTPS traffic is requested on a port to
allow on-HTTP enabled devices access to the network. 

D. Authentication credentials for specific devices can be preconfigured on the switch for automatic authentication. 

Correct Answer: A 

 

QUESTION 4

Click the Exhibit button. 
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Referring to the exhibit which two statements are true? (Choose two.) 

A. Untagged control packets entering interface ge-0/0/1 are not recognized. 

B. Untagged data packets entering interface ge-0/0/2 will be tagged with VLAN ID 20. 

C. Untagged control packets entering interface ge-0/0/3 are passed without a VLAN tag. 

D. Untagged data packets entering interface ge-0/0/3 will be tagged with VLAN ID 1. 

Correct Answer: BD 

 

QUESTION 5

Which statement is correct about MSTP? 

A. MSTP enables mapping multiple independent spanning-tree instances onto one physical topology. 

B. MSTP enables dynamic discovery of Layer 2 neighbors. 

C. MSTP dynamically manages VLAN registration in a LAN. 

D. MSTP uses stacked VLAN tags to extend a Layer 2 Ethernet connection between multiple sites. 

Correct Answer: A 
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